HW 2.1(a) Key

1. Deposits of 60 are placed into a fund at the end of each year for 12 years. The effective annual interest
rate is 9%. Calculate the present value of the series of payments.

A)| 429.64 B) 39098 C) 46831 D) 50698 E) 545.65
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2. Deposits of 60 are placed into a fund at the end of each year for 12 years. The effective annual interest
rate is 9%. Calculate the accumulated value of the series of payments at the end of the 12th year.

A)| 1,20844 B) 1,10278 C) 1,15849 D) 126991 E) 1,225.62
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3. 5. Deposits of 10 are placed into a fund at the end of each year for 12 years with the first deposit occurring at

t=6. The effective annual interest rate is 5%. Calculate the present value of the series of payments.

6945 B) 59.03 C) 6250 D) 6597 E) 72.92
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Deposits of 90 are placed into a fund at the end of each year for 10 years. The present value of the series
of payments is 669.05. Find the effective annual interest rate.

[Aj 579% B) 55% C) 6.08% D) 637% E) 6.66%
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Deposits of P are placed into a fund at the end of each year for 20 years. At an effective annual interest
rate is 4%, the accumulated value of the series of payments at the end of the 20th year is 2192.56. Find

P,
‘A)l 73.63 B) 65.13 C) 6797 D) 7080 E) 76.46
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P (za.77g) = 2192.56

P o= 7363




